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WBRTE Y T L OB ER E (Ba/kg)
i H EeE T BHEH AFH 134 137 RN
&k X
1 JFORLWZT(UE) Dra (e 4H4H 5H30H]  1.8Kjis 1.87 1.9
2 JFORL VI (E) FEHEFE) 4H4H 5H30H]  2.0Km 8.81 3.8
3 JEORL T (E) FETHRYG» B) 4H4H 5H30H]  2.2Km 8.48 8.5
4 JEORL WM (E) FEH{EESR) 4H4H 5H30H]  1.9Km 17.7 18
5 JEORL VI (E) Fra 4H4H 5H30H] 2. 1K 15.3 15
6 JFEARLWET () [ N 474R 5H30H| 1.8Ki# 4.94 4.9
7 JEARLNT () F R 4H4H 5H30H]  1.6Km 2.28 2.3
8 JEARLWZTF () FEHEFE) 4H4H 5H30H]  1.3K0m 9.56 9.6
9 JEARLNZT () FEH RS B) 4H4H 5H30H]  1.4K0m 6.13 6.1
10 JEARLNZT () FETH{EESR) 4H4H 5H30H]  2.0Km 17.8 18
11 JEARLNZT () it 4H4H 5H30H 1.31 16.0 17
12 JEARL T (87) [ N 474R 5H30H| 1.2Ki# 4.46 4.5
13 JFARLWEIF(E) AR T 4J19R 5H30H]| 1.6k 2.2 K 3.8
14 JFEORL VT (87 AR 4J19R 5H30H]|  1.4Kik 2.40 2.4
15 EACHIS) EEaiil 4723H 5H30H]  5.3Km 4.2 K% 9.5 K
16 L ZA) RNt 4723H 5H30H]  5.4Km 6.6 K71 12K
17 L3 (AZRY)) T 4240 5H30H| 3.5KiH 4.0 15 7.5 K0
18 EICFAS) /INLHET 45240 5H30H| 4.2K7H 4.6 8.8
19 LA 2Y) R 4724H 5H30H]  4.8Km 3.9K7H 8.7 A
20 BpAEXDZ (XAYAXZ 7 ERF) B T 9A11H 9H14H[ 5.2Kim 8.39 8.4
21 W AEXDZ (A7) ST 9H11H 9HI14H| 4.0k 8.74 8.7
22 WAEXDZ (Y~ F) T 9HI11H 9HI4H| 4.2K7H 45.5 46
23 WAEXDZ FAVEA) /N[BT 9A11H 9H14H 16.7 203 220
24 | BAEXDZ EAXYREY) /N BT 9A11H 9 14H 7.02 144 150
25 B AEXDZ (FF447) /N LT 9H11H 9H14H] 4.6Km 12.1 12
2% (Aﬁﬁaﬁggfj)‘{y%]ﬁ%) MR 9411H 9f14n| 113 158 170
27 B AEXDZ (FF47) =i 9H19H 9H25H]  4.8Kjmi 43.7 44
28 WEXDZ(NFATF) Rl 9A19H 9H25H 7.51 194 200
29 | BAEXOZ(NTFETEY) BhEh 9H19H 9H25H]  4.6K3 24 24
30| BEXOZ(FIARIATT) Rt 9A19H 9H25H 5.48 92.8 98
31 FAXDZ(NTATF) BEEN 9H19H 9H25H]  4.8Kmi 94.3 94
32 BRI (2 Y) N 9H18H 10H30H] 1.3k 5.2 5.3
33 BRA (/) s 9H20H 10H30H]| 1.5k 1. 3K 2.8
34 | BAEZOZ(H L INIET) kil 10H9H 11H29H] 4.3k 44K 8.7 A
35 BAEXDOZ (JVEF) ol 10H9H 11H29H]| 5.1KiH 5.51 5.5
36 WD (FT584) =B 107 10H 11H29H]|  4.7KiH 3.9k 8.6 K0
37| BWAEZOZ(TIFXITH) =& 104 10H 11H29H] 5.7KfH 5.6 AT LA
38 WDz (FT584) Bt 107 10H 11H29H]| 4.5k 6.21 6.2
39 B AEXDZ (FF47) EIRHAT 104 10H 11H29H] 4.6K1H 20.9 21
40 JEARLW=T (E) Fro 117 19H 127178 1.9K5H 2.6 A3 4.5 K0l
41 JEARLZT (4F) Fo 117 19H 12H17H|  1.55Ki% 6.80 6.8
42 JEARLZT (4F) Fo 117 19H 12H17H|  1.55Ki% 10.2 10
43 JEARLW=T (E) From 117 19H 127178 1.5K0% 12.6 13
44 JEARLZT (FF) it 11 19H 12H17H]|  1.2K5% 12.8 13
45 JFEARLWZT (87) From 117 19H 127178 1.5K0% 1.3 2.8 K0
46 JFEARLWT (B7) From 117 19H 127178 1.2K5% 10.1 10
47 JFEARLWT (B7) Fo 117 19H 12H17H]|  1.2K0% 13.0 13
48 JFEARLWZT (B7) Fo 117 19H 12H17H 2.02 20.9 23
49 JFEARLWZT (87) it 117 19H 12H17H]|  1.65Ki% 23.1 23
50 JFEARLWET () [ N 117429H 12H17H]| 2.2KiH 10.9 11
51 JEARLW=T (§E) N 117 29H 12H17H]|  1.2K5% 2.04 2.0
52 JEARLW=T (E) I ARAHT 127 12H 1248 13K IBERL 24K
53 JEARLWZT (BE) I AR AT 127 12H 1248 15K 16K 3. IR
54 BRI (1) e 127 12H 1H248] L3R5 1.4 2. 7K
55 BRI (A7) e 127 12H 1JJ24H 1.57 13.9 15
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[t s 2o Fvefi ]
PIE S 7 L1342 13TDAED
J/CEVIN 10Bq, Kg
= 50Bq, Kg
— AR 100Bq, Kg
FLIR £ 50Bq, Kg




